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If; therefore, someonc should say, “1 wankt an sce, a
deuce, or a trey,” you know that there are favozable
throws, and since the circuit is| |, the rest of the throws

in which these points will not turn up will bd |; the odds

will therefore be [ to [, Therefore in 4 throws, if fortune

be equal, an ace, dence, or trey will tum up 3 times. and
only one throw will be witheut any of them; if, therefore,
the player who wants an ace; deuce, or tiey were to wager
three ducats and the ctlier player one, then the former

would win three times and would gain three ducats; and

the other once and would win three ducats; therefore
the circutt of 4 throws: they would always bé-equal. So this

is the rationale of conténding on equal ters;
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